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NDA EXAM 

PART 'A' 
 

1. Who was the first Indian to be-elected 

to the British Parliament ? 

(A) Dadabhai Naoroji 

(B) Mothilal Nehru 

(C) Mahatama Gandhi  

(D) Gopalakrishna Gokhale 

2. Which language was patronized by the 

rules of Delhi Sultanate ? 

(A) Hindi  (B) Arabic 

(C) Persian  (D) Turkish 

3. Headquarters of Amnesty International 

is at. 

(A) New York (B) London 

(C) Washington (D) Berlin 

4. Which of the following animals was 

not native to India ? 

(A) Elephant (B) Horse 

(C) Rhinocores (D) Tiger 

5. The equator passes through which of 

the following continents ? 

(A) Africa  (B) Australia 

(C) Europe  (D) North America 

6. Days and Nights are equal throughout 

the globe when the sun is above. 

(A) Poles          (B) Tropic of cancer 

(C) Equator    (D) Tropic of Capricorn 

7. Which of the following gases is used 

for refrigeration ? 

(A) Chloring (B) Sulphur dioxide 

(C) Phosghine (D) Ammonia 

8. Aspirin is the common name of - 

(A) Salicylic acid (B) Salicylate 

(C) Methyl salicylate  

(D) Acetyl salicylic acid 

9. Which of the following is a balanced 

fertilizer for plants ? 

(A) Urea   (B) Ammonia sulphate 

(C) Nitrates      (D) Compost 

10. Decrease in white blood cells results 

in - 

(A) Decrease in Antibodies 

(B) Increase in Antigens 

(C) Increase in Antibodies 

(D) None of the above 
1- fczfV'k ikfyZ;kes.V esa pqus x;s igys Hkkjrh; dkSu 

gS\  

 (A) nknkHkkbZ ukSjksth (B) eksrhyky usg: 

 (C) egkRek xk¡/kh            (D) xksiky d`".k xks[kys 
2- lYrurdky dh vkf/kdkfjd Hkk"kk dkSu lh Fkh \ 

 (A) fgUnh   (B) vjch 
 (C) iflZ;u  (D) rqdhZ 
3- ,eusLVh dk eq[;ky; dgk¡ gS\ 

 (A) U;w;kdZ  (B) yanu 
 (C) okf'kaxVu  (D) cfyZu 
4- dkSulk tkuoj Hkkjr dk ewyoklh ugha gS\ 

 (A) gkFkh   (B) ?kksM+k 
 (C) jkbuklksjl  (D) phrk 
5- Hkwe/;js[kk fdl egk}hi ls fudyrh gS\ 

 (A) vÝhdk  (B) vkLVªfy;k 
 (C) ;wjksQ  (D) mRrjh vesfjdk 
6- fnu&jkr cjkcj gksrs gS& 

 (A) /kqzo   (B) ddZ js[kk 
 (C) Hkwe/;js[kk  (D) edj js[kk 
7- jsÝhtjsVj esa dkSu lh xSl dk iz;ksx fd;k tkrk gS\ 

 (A) Dyksjhu           (B) lYQj MkbZvkWDlkbM 
 (C) QkWLthu  (D) veksfu;k 
8- ,fLijhu dk lkekU; Ukke D;k gS\ 

 (A) lkfyflfyd vEy (B) lkWyhlkbysV 
 (C) feFkkby lsYkhlkbysV  
 (D) ,lhVkby lsfyflfyd vEy 

9- ikS/ks ds fy, lcls larqfyr moZjd dkSu gS\ 

(A) ;wfj;k  (B) veksfu;k lYQsV 
(C) ukbVªsV  (D) dEiksLV 

10- lQsn jDr df.kdkvksZ ds de gksus dk ifj.kke 

gS&  

(A) ,.VhckWMh dk de gksuk(B) ,.Vhu dk cM+uk 
(C) ,.VhckWMh cM+uk   
(D) buesa ls dksbZ ugha 
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11. Which of the following is a dance – 

drama ? 

(A) Kathakali (B) Bharatnatyam 

(C) Odissi  (D) Manipuri 

12. Who was the prime minister of U.K. at 

the time of India's Independence ? 

(A) Lord Attlee 

(B) Winston Churchill 

(C) Lord Mountbatten  

(D) Harold Wilson  

13. The sculpture with the three faces of 

Brahma, Vishnu and Mahesh known as 

'Trimurti' appears in- 

(A) Ajanta caves (B) Ellora caves 

(C) Kalva caves    (D) Elephanta caves 

14. Which of the following is not related 

to the Gandhara School of Art ? 

(A) Ellora  (B) Ajanta 

(C) Khajuraho (D) Elephanta 

15. Qantas Airways belongs to - 

(A) Australia (B) Germany 

(C) France  (D) New Zealand 

16. To an astronaut in the spacecraft, the 

sky colour appears to be- 

(A) Blue  (B) White 

(C) Black  (D) Orange red 

17. When the ice floating in a glass of 

water melts, the level of water will - 

(A) Increase (B) Decrease 

(C) Remain constant    

(D) First increase and then decrease 

18. Which of the following crops has the 

highest photosynthetic activity ? 

(A) Cotton  (B) Sugarcane 

(C) Rice  (D) Wheat 

19. There are two places P and Q. The 

longitudes of P and Q are 45
0
 E and 

60
0
 W respectively. What will be the 

difference in their local times -  

(A) 7 hours  (B) 6 hours 

(C) 3.5 hours    

(D) Both places will have the same 

local time  

 

11- fuEu esa ls dkSu lk u`R;ukV~; gS\ 

(A) dFkd dyh  (B) HkjrukV;e 
(C) vksfMlh  (D) ef.kiqjh 

12- Hkkjr dh Lora=rk ds le; fczVsu dk iz/kkuea=h 

dkSu Fkk\ 

(A) ykMZ ,Vyh    
(B) foaLVu pfpZy 
(C) ykMZ ekm.VcsVu  
(D) gsjkYM foYlu 

13- czá] fc".kq] egs'k dh f=ewfrZ dgk¡ gS\ 

(A) vtark xqQk (B) ,yksjk xqQk 
(C) dkYok xqQk  (D) ,yhQsaVk xqQk 

14- buessa ls dksSu lk xka/kkj Ldwy ls lacaf/kr ugha gS\ 

(A) ,yksjk  (B) vtark 
(C) [ktqjkgks  (D) ,yhQsaVk 

15- dkarkl ,;jost lacaf/kr gS& 

(A) vkLVªsfy;k  (B) teZuh 
(C) Ýkal  (D) U;wthyS.M 

16- varfj{k;k=h dks varfj{k esa varfj{k dk jax dSlk 

fn[krk gS\ 

(A) uhyk  (B) lQsn 
(C) dkyk  (D) ykylarjh 

17- fxykl esa jjoh gqbZ cQZ ds fi?kyus ls ty dk 

Lrj D;k gksxk \ 

(A) cM+sxk  (B) ?kVsxk 
(C) fLFkj jgsxk    

(D) igsy cM+sxk fQj ?kVsxk 
18- izdk'k la'ys"k.k dh fØ;k lokZf/kd gksrh gS\ 

(A) dikl  (B) xUuk 
(C) pkoy  (D) xsg¡w 

19- nks LFkku P vkSj Q 45
0

 iwohZ ns'kkarj o 60
0

 

if'peh ns'kkarj ij gSA muds chp LFkkuh; Lrj 

ij fdrus le; dk varj gS 

(A) 7 ?k.Vs   
(B) 6 ?k.Vs 
(C) 3-50 ?k.Vs   
(D) nksuksa LFkkuksa ij leku le;  
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20. When a ship enters a sea from a river, 

its portion under water will - 

(A) Increase  (B) Decrease 

(C) Show no change  

(D) Increase and decrease alternately 

21. Out of the following the oldest dynasty 

is - 

(A) Mauryas  (B) Nandas 

(C) Pallavas  (D) Guptas 

22. Which of the following rivers flows 

westward ? 

(A) Krishna  (B) Cauvery 

(C) Mahanadi (D) Narmada 

23. Which among the following has the 

world's largest reserves of Uranium ? 

(A) Australia  (B) Canada 

(C) Russian Federation (D) USA  

24. Which one of the following mountain 

ranges is spread over only one state in 

India? 

(A) Aravalli  (B) Satpura 

(C) Ajanta  (D) Sahvadri 

25. Where are shevaroy Hills located ? 

(A) Andhra Pradesh(B) Karnataka 

(C) Kerala  (D) Tamil Nadu 

26. Who wrote unhappy india ? 

(A) Bal Gangadhar Tilak 

(B) Lala lajpat Rai 

(C) Surrendra nath Banerjee 

(D) Dadabhai Naoroji 

27. Who was nominated president of the 

indian national congress after the 

resignation of subhas chandra Bose? 

(A) Abul kalam azad  

(B) Rajendra prasad 

(C) Pattabhi sitaramaiyya    

(D) vallabhbhai patel  

28. Which operating system is developed 

and used is apple inc ? 

(A) Windows (B) Android 

(C) Ios  (D) unix 

29. Java was originally invented by ? 

(A) Oracle  (B) Microsoft 

(C) Novel  (D) Sun 

 

20- unh ls leqnz esa izos'k djrs gq, ikuh ds tgkt 

dh fLFkfr ij D;k izHkko iMs+xk\ 

(A) cMs+xk  (B) ?kVsxk 
(C) ifjorZu ugha gksxk  
(D) igsy c<s+xk fQj ?kVsxk 

21- fuEu esa ls lcls izkphu lkezkT; dkSu&lk gS\ 

(A) ekS;Z  (B) uan 
(C) iYyo  (D) xqIrk  

22- if'pe dh vksj cgus okyh unh dkSu lh gS\ 

(A) d`".kk  (B) dkosjh 
(C) egkunh  (D) ueZnk 

23- lcls T;knk ;wjsfu;e dk laj{k.k fdl ns'k esa gS\ 

(A) vkLVªsfy;k  (B) dukMk 
(C) :l  (D) ;w,l, 

24- dkSu lh iorZÜk`a[kyk ,d gh jkT; esa gS\ 

(A) vjkoyh  (B) lriqM+k 
(C) vtark  (D) lg;kfnz 

25- 'ksojkW; igkM+h fdl jkT; esa gS\ 

(A) vka/kzizns'k  (B) dukZVd 
(C) dsjy  (D) rfeyukMw 

26- fdlus ^vugSIih bafM;k* fdrkc fy[kh \ 

(A) ckyxaxk/kj fryd  
(B) ykyk yktirjk; 
(C) lqjsUnzukFk cuthZ   
(D) nknkHkkbZ ukSjkth 

27- Hkkjrh; jk"Vªh; dkaxzsl ds v/;{k in ls lqHkk"kpanz 

panz cksl ds bLrhQk ds ckn dkSu v/;{k cus \ 

(A) vcqy dyke vktkn (B) jktsUnz izlkn 
(C) iêkfHklhrkjeS;k   
(D) oYyHkHkkbZ iVsy 

28- ,Iiy bad us dkSu lk vkWijsfVax flLVe fodflr 

o mi;ksx fd;k \ 

(A) fo.Mkst  (B) ,.MªkbM 
(C) vkbZvks,l  (D) ;wfuol 

29- fdlus tkok dks fodflr fd;k \ 

(A) vkWjsdy  (B) ekbØkslkW¶V 
(C) ukscsy  (D) lu  
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30. Which one is the first search engine in 

internet ? 

(A) Google  (B) Archie 

(C) Altavista (D) WAIS 

31. The unit of speed used for super 

computer is ? 

(A) Kelops  (B) Gelops 

(C) Melops  (D) None of these 

32. Who is the father of email? 

(A) Tim berners lee 

(B) Charles babbage 

(C) Paul buchheit (D) Ray tomailsan 
33. What is full form of E.X.I.F. 

(A) Exchangeable image file finish  

(B) Exchangeable image file format 

(C) Executable image file format  

(D) Executable image file finish 
34. Optical fibre works on which of the 

following principle of light? 

(A) Reflection (B) Refraction 

(C) Diffraction 

(D) Total internal reflection 

35. What is the SI unit of Young's 

modulus of elasticity ? 

(A) Henry   (B) Hertz 

(C) Pascal  (D) Dioptre 

36. The matter that sipports the sound is 

called……. 

(A) Medium  (B) Temperature 

(C) Density       (D) None of the above 

37. The fuse in an electric circuit is 

connected in - 

(A) parallel to live 

(B) parallel to neutral 

(C) series with live  

(D) series with neutral 

38. Electric Motor converts…….. energy 

to mechanical energy- 

(A) sound  (B) mechanical 

(C) chemical (D) electrical 

39. Who was the first to use radio waves 

to detect "the presence of distant 

metallic objects" ? 

(A) Joseph Niepce (B) Blaise Pascal 

(C) Linus Pauling (D) Hulsmeyer 

30- baVjusV ij igyk lpZbatu dkSu lk gS\ 

(A) xwjky  (B) vkdhZ 
(C) vYVkfoLVk  (D) ost  

31- lqijdEI;wVj dh xfr ekius dh bdkbZ & 

(A) dsyksIl  (B) xsyksIl 
(C) esyksIl  (D) buesa ls dksbZ ugha 

32- bZesy&firk fdls dgk tkrk gS \ 

(A) fVe cuZl yh (B) pkYlZ csost 
(C) ikWy cdsV  (D) js VkWfeYlu 

33- E.X.I.F. fdldk laf{kIr uke gS\ 

(A) Exchangeable image file finish 

 (B) Exchangeable image file format 

(C) Executable image file format  

(D) Executable image file finish 

34- izdk'kh; rarq fuEufyf[kr esa ls izdk'k ds fdl 

fl)kar ij dk;Z djrk gS\ 

(A) ijkorZu  (B) viorZu 
(C) foorZu         (D) iw.kZ vkarfjd ijkorZu 

35- ;ax izR;kLFkk xq.kkad dk ,l-vkbZ ek=d D;k gS\ 

(A) gsujh      (B) gVZt     
(C) ikLdy     (D) Mk;ksIVj 

36- og inkFkZ tks /ofu dks lg;ksx djrk gS--------

dgykrk gSA 

(A) ek/;e  (B) rkieku 
(C) ?kuRo      (D) mijksDr esa ls dksbZ ugha 

37- fdlh fo|qr ifjiFk esa ¶;wt fdlesa tqM+k gksrk gS\ 

(A) fo|qr ¼ykbo½ ds lekuarj 
(B) U;wVªy ds lekukarj 
(C) fo|qr ¼ykbo½ ls lhfjt esa 
(D) U;wVªy ls lhfjt esa 

38- fo|qr eksVj------------ ÅtkZ dks ;kaf=d mtkZ esa 

cnyrk gS\ 

(A) /ofu     (B) ;kaf=d    
(C) jklk;fud      (D) fo|qr 

39- ^^nwj j[kh oLrqvksa dh mifLFkfr** dk irk yxkus ds 

fy, jsfM;ks rjaxksa dk mi;ksx djus okys igys O;fDr 

dkSu Fks\ 

(A) tkslsQ fu,Il  (B) Cyst ikLdy 
(C) fyul ikWfyax  (D) gYles;j  
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40. Which of the following elements has 

the lowest melting point ? 

(A) Zinc  (B) Titanium 

(C) Sulphur  (D) Fluorine 

41. Fe has 26 protons in ts nucleus. What 

are the number of electrons in Fe
2
 + 

(II) ion ? 

(A) 24  (B) 26 

(C) 28  (D) 13 

42. Which of the following  is a radioac-

tive element ? 

(A) Cobalt  (B) Uranium 

(C) Argon  (D) Chromium 

43. Tamarindus indics is the scientific 

name of ………… 

(A) Neem  (B) Pineapple 

(C) Tamarind (D) Chiku 

44. Air has maximum proportion of which 

inert gas ? 

(A) Carbon Dioxide 

(B) Nitrous Oxide 

(C) Argon   

(D) Carbon Monoxide 

45. Which of the gas is not known as 

greenhouse gas ? 

(A) Methane  (B) Carbon dioxide 

(C) Nitrous oxide (D) Hydrogen  

46. Which of the following are longest 

cells of human body ? 

(A) Pancreatic cells(B) Epethelial cells 

(C) Nerve cells (D) Epidermal cells 

47. Which organ is affected by pneumonia 

disease ? 

(A) Skin and intestine 

(B) Urinary tract  

(C) Liver       (D) Lungs 

48. Bio-fertilizers convert nitrogen to 

………… 

(A) nitrates  (B) ammonia 

(C) nitrogenase (D) amino acids 

49. Which one of the following is a 

carbohydrate ? 

(A) Insulin  (B) Glycine 

(C) Glucose  (D) Urea 

40- fuEufyf[kr rRoksa esa ls fdldk xyukad lcls 

de gS\ 

(A) ftad    (B) VKbVsfu;e    
(C) lYQj        (D) ¶yksjhu 

41- Fe ds U;wfDy;l esa 26 izksVksu gksrs gSaA Fe
2
 + 

(II) vk;u esa bysDVªku dh la[;k fdruh gksrh 

gS\ 

(A) 24      (B) 26      (C) 28 (D) 13 
42- fuEufyf[kr esa ls dkSu&lk jsfM;ks/kehZ rRo gS\ 

(A) dksckYV  (B) ;wjsfu;e 
(C) vkxZu  (D) Øksfe;e 

43- VSesjhUM~l bafMdk -------------- dk oSKkfud uke 

gSA 

(A) uhe    (B) vUukukl     

(C) beyh         (D) phdw 
44- ok;q esa fdl vfØ; xSl dk vuqikr lcls 

vf/kd gksrk gS\ 

(A) dkcZu MkbZ vkWDlkbM(B) ukbVªl vkWDlkbM 
(C) vkxZu         (D) dkcZu eksuks vkWDlkbM 

45- fdl xSl dks xzhugkml xSl ds :i esa ugha tkuk 

tkrk gS\ 

(A) ehFksu  (B) dkcZu MkbvkWDlkbM 
(C) ukbVªl vkWDlkbM (D) gkbMªkstu 

46- fuEufyf[kr esa ls dkSu lh ekuo 'kjhj dh lcls 

cM+h dksf'kdk,a gSa \ 

(A) vXuk'k; dksf'kdk,a (B) midyk dksf'kdk,a 
(C) raf=dk dksf'kdk,a (D) vf/kpfeZd dksf'kdk,a 

47- 'kjhj dk dkSu lk vax U;qeksfu;k jksx ls izHkkfor 

gksrk gS 

(A) Ropk vkSj vkar (B) ew= ekxZ 
(C) ftxj  (D) QsQM+s 

48- tSo moZjd ukbVªkstu dks fuEufyf[kr esa ls 

fdlesa ifjofrZr djrs gSa\ 

(A) ukbVªsV~l  (B) veksfu;k 
(C) ukbVªksftusl  (D) vehuks ,flM 

49- fuEufyf[kr esa ls dkSu&lk ,d dkcksZgkbMªsV gS\ 

(A) bUlqfyu  (B) XykbZlhu 
(C) Xywdkst  (D) ;wfj;k 
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50. Which of the following transports 

water from the roots of the plant to its 

leaves ? 

(A) Xylem         (B) Phloem 

(C) Both xylem and phloem   

(D) Cortex 

51. The function of haemoglobin in the 

body is - 

(A) Transport of oxygen 

(B) Destruction of bacteria 

(C) Prevention of anemia 

(D) Utilisation of iron 

52. Kidney stones are composed of 

……….. 

(A) Calcium Oxalate  

(B) Sodium Chloride 

(C) Magnesium Nitrate  

(D) Calcium Bicarbonate 

53. The word CNG in the transport 

network system stands for - 

(A) Chlorine Natural Gas 

(B) Commercial Natural Gas 

(C) Compressed Natural Gas    

(D) Condensed Natural Gas 

54. Which blood group is universal donor 

? 

(A) O
+
   (B) O

-
 

(C) AB
-
   (D) AB

+
 

55. What is the numerical value of the 

Auvogadro constant ? 

(A) 4.8 x 10
10

 (B) 9.1 x 10
-31

 

(C) 6.023 x 10
-23

 (D) 6.023 x10
23

 

56. Who is known as the father of periodic 

table ? 

(A) Dmitri Mendeleev 

(B) Antoine Lavoisier 

(C) John Newlands(D) Henry Moseley  

57. Which of the following pair is 

INCORRECT ? 

I. Parsec – Distance  

II. Barrel – Liquid 

III. Light year - Time 

(A) Only III  (B) Only I and III 

(C) Only II  (D) All are correct 

50- fuEufyf[kr esSa ls dkSu ikS/ks dh tM+ks ls mldh 

ifÙk;k¡ rd ty igqapkrk gS\ 

(A) nk# ¼tkbZyse½  
(B) oYdy ¼¶yks,e½ 
(C) nk# ¼tkbZyse½ rFkk oYdy ¼¶yks,e½ nksuksa  
(D) rus vFkok tM+ dk vkoj.k 

51- 'kjhj esa fgeksXyksfcu dk dk;Z gS ------------ 

(A) izk.kok;q dk ifjogu  
(B) cSDVhfj;k dk fouk'k 
(C) vuhfe;k ¼jDrghurk½ dh jksdFkke   
(D) yksg rRo dk mi;ksx  

52- xqnsZ dh iFkjh------------ ls cuh gksrh gSaA 

(A) dSfY'k;e vkWDlkysV  
(B) lksfM;e DyksjkbM 
(C) eSXuhf'k;e ukbVªsV  
(D) dSfYl;e ckbZdkcksZusV 

53- ifjogu usVodZ iz.kkyh esa lh,uth dk D;k vFkZ 

gS\ 

(A) Dyksjhu izkd`frd xSl  
(B) okf.kfT;d izkd`frd xSl 
(C) laihfMr izkd`frd xSl  
(D) la?kfur izkd`frd xSl 

54- dkSu lk jDrlewg loZnkrk dgykrk gS\ 

(A) O
+
      (B) O

-            

 
(C) AB

-
    (D) AB

+
 

55- vkoksxknzks fu;rkad dk la[;kRed eku D;k gS\ 

(A) 4.8 x 10
10

 (B) 9.1 x 10
-31

 

(C) 6.023 x 10
-23

 (D) 6.023 x10
23

 

56- vkorZ lkj.kh dk tud fdls ekuk tkrk gS\ 

(A) fnfe=h esaMyho (B) ,UVksuh ysoksft;j 
(C) tkWu U;wySaM~l (D) gsujh ekslyh 

57- fuEufyf[kr esa ls dkSu lk ;qXe xyr gS\ 

I. ikjlSd & nwjh  

II. cSjy & rjy  

III. izdk'k o"kZ & le; 

(A) dsoy III   (B) dsoy I  rFkk III 
(C) dsoy I  (D) lHkh lgh gSa 
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58. What is the name of the first Super 

computer of the world ? 

(A) CDC 6600  (B) USENET 

(C) COM ODOR VIC/20(D) PARAM-

8000 

59. Which of these battles proved decisive 

in the Anglo-French rivalry in lndia ? 

(A) Battle of Wandiwash 

(B) Battle of Assaye 

(C) Battle of Chillianwala 

(D) Battle of Serirangapattnam 

60. 'Do or Die' is the famous slogan given 

by- 

(A) Mahatma Gandhi  

(B) Vallabhbhi Patel 

(C) Jawaharlal Nehru 

(D) Rajiv Gandhi 

61. The English established their first 

factory in India at- 

(A) Bombay  (B) Surat 

(C) Sutanati  (D) Madras 

62. In which of the following years 26
th
 

January was celebrated an 

independence day ? 

(A) 1930  (B) 1929 

(C) 1942  (D) 1946 

63. Permanent Revenue Settlement of 

Bengal was introduced by- 

(A) Clive  (B) Hastings 

(C) Wellesley (D) Cornwallis 

64. Who spoke : "At the stroke of 

midnight, when the world sleeps, India 

awakes to life and freedom" ? 

(A) Subhas Chandra Bose 

(B) Mahatma Gandhi 

(C) Jawaharial Nehru  

(D) C. Rajagopalachari 

65. Who started the first English newsp-

aper in India ? 

(A) Bal Gangadhar Tilak 

(B)Raja Rammohan Roy 

(C) J.A. Hickey            

(D) Lord william Bentinck 

 

58- fo'o ds izFke lqij dI;wVj dk D;k eku gS\ 

(A) lh-Mh-lh- 6600 (B) ;wtusV 
(C) lh-vks-,e-vks-Mh-vks-vkj-ohd@20   
(D) ih-,-vkj-,-,e- & 8000 

59- Hkkjr esa vkaXy&Ýsap 'k=qrk esa fuEufyf[kr esa ls 

dkSu&lh yM+kbZ fu.kkZ;d fl) gqbZ \ 

(A) osafMok'k   
(B) vlk;s dh yM+kbZ 
(C) fpfy;k¡okyk dh yM+kbZ  
(D) Jhjaxiêue dh yM+kbZ 

60- ^djks ;k ejks* dk izfl) ukjk fdlus fn;k Fkk \ 

(A) egkRek xk¡/kh (B) cYyHk HkkbZ iVsy 
(C) tokgjyky usg: (D) jktho xk¡/kh 

61- vaxztks us Hkkjr esa viuh igyh QSDVjh dgk¡ 

LFkkfir dh Fkh\ 

(A) cacbZ  (B) lwjr 
(C) lqrurh  (D) enzkl 

62- fuEufyf[kr esa ls fdl o"kZ esa 26 tuojh dk 

fnu Lora=rk fnol ds :i euk;k x;k Fkk \ 

(A) 1930  (B) 1929 
(C) 1942  (D) 1946 

63- caxky esa jktLo dk bLrejkjh cankscLr ¼LFkk;h 

cankscLr½ fdlus ykxw fd;k Fkk\ 

(A) Dykbo  (B) gsfLVaXl 
(C) osystyh  (D) dkuZokfyl 

64- ;g fdlus dgk Fkk] ^^bl le; e/;&jkf= gksrs 

gh] tc lalkj lks jgk gS] Hkkjr thou rFkk 

Lora=rk ds fy, tkx mBk gS**& 

(A) usrkth lqHkk"kpanz cksl 
(B) egkRek xk¡/kh 
(C) tokgjyky usg:  
(D) lh- jktxksikypkjh 

65- Hkkjr esa vaxzsth dk igyk lekpkji= fdlus 'kq: 

fd;k Fkk\ 

(A) cky xaxk/kj fryd  
(B) jktk jkeeksgu jk; 
(C) ts- ,- fgDdh   
(D) ykWMZ fofy;e csfUVd 
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66. Punjab was annexed to the British 

empire during the reign of Governor-

General- 

(A) Lord Bentick (B) Lord Dalhousie 

(C) Lord Cornwallis  

(D) Lord Cannig 

67. Who among the following is referred 

to as 'Desert Fox' ? 

(A) Lord Wavell  

(B) Gen. Eisenhover 

(C) Gen. Rommel (D) Gen. McArthur 

68. The Delhi General who successfully 

advanced up to Madurai was- 

(A) Khizr Khan        

(B) Muhammad Ghori 

(C) Malik Kafur       

(D) Muhammad bin Tughlaq 

69. How many Union territories are there 

in India ? 

(A) 7       (B) 8         

(C) 9       (D) 10 

70. In which city 2018 Winter Olympic 

held at - 

(A) Pyeongchang (B) Gimcheon 

(C) Incheon  (D) Seoul 

71. In which state have Indian Railway 

introduced "Palace on Wheels" to 

promote tourism ? 

(A) Punjab  (B) Kerala 

(C) Rajasthan        (D) Andhra Pradesh 

72. The first-ever Indian tennis player who 

win a set against Roger Federer ? 

(A) Vikram Trehan 

(B) Rakesh Ranjan 

(C) Sumit Nagal (D) Ashwin Tyagi 

73. Who is the CEO of Flipkart ? 

(A) Kalyan Krishnamrurthy 

(B) Sriram Venkataraman 

(C) Punit Soni  

(D) Sheena Singh 

74. Who is appointed as the new director-

general of the IAEA ? 

(A) Oliver Barrow (B) Sophie Wilmes 

(C) Rafael Grossi (D) Charles Michel 

66- fdl xouZj tujy ds dky esa iatkc dks fczfV'k 

lkekT; esa feyk;k x;k Fkk \ 

(A) ykWMZ csafVd  (B) ykWMZ MygkSth 
(C) ykWMZ dkWuZokfyl (D) ykWMZ dsfuax 

67- fuEufyf[kr esa ls fdldks ^MstVZ QkWDl* dgk 

tkrk gS\ 

(A) ykWMZ ososy   
(B) tujy vkbtugkWoj 
(C) tujy jksesy   
(D) tujy eSd~vkFkZj 

68- enqjbZ rd lQyrkiwoZd c<+us okyk fnYyh dk 

tujy dkSu Fkk \ 

(A) f[ktz [kk¡  (B) eqgEen xkSjh 
(C) efyd dkQwj (D) eqgEen fcu rqxyd 

69- Hkkjr esa fdrus dsanz 'kkflr izns'k gSa\ 

(A) 7   (B) 8 
(C) 9   (D) 10 

70- 2018 'khrdkyhu vksyafid [ksy dgk¡ vk;ksfTkr 

gq, \ 

(A) f'k;kupsax  (B) fxekpksu 
(C) bafp;ksu  (D) fl;ksy 

71- fdl jkT; esa jsyos }kjk ^iSysl vkWu OghYl* 

i;ZVu dks izksRlkgu ds fy, 'kq: gqvk \ 

(A) iatkc  (B) dsjy 
(C) jktLFkku  (D) vka/kzizns'k 

72- fdl Hkkjrh; Vsful f[kykM+h us gky gh esa Vsful 

dk iwjk lsV jkstj QsMjj ds f[kykQ thrk gS\ 

(A) foØe Vªsgu  (B) jkds'k jatu 
(C) lqfer ukxy (D) vf'ou R;kxh 

73- f¶yidkVZ ds C.E.O dkSu gS\ 

(A) dY;k.k d`".kewfrZ  
(B) Jhjke osadVjeu 
(C) iquhr lksuh   
(D) 'khuk flag 

74- fdls IAEA dk Mk;jsDVj tujy fu;qDr fd;k 

x;k \ 

(A) vksfyoj csjks (B) lksQh foYel 
(C) jkQsy xzkslh  (D) pkYlZ ekbdy 
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75. The Paithan (Jayakwadi) Hydro-

electric project, completed with the 

help of Japan, is on the river- 

(A) Ganga  (B) Cauvery 

(C) Godavari (D) Narmada 

76. The pass located at the southern end of 

the Nilgiri Hills in south India is 

called- 

(A) The palghat gap  

(B) The Bhorghat pass 

(C) The Thalghat pass 

(D) the bolan pass  

77. The Yarlung Zangbo River, in India, is 

known as- 

(A) Ganga  (B) Indus 

(C) Brahmaputra (D) Mahanadi 

78. The percentage of earth surface 

covered by India is- 

(A) 2.4     (B) 3.4     (C) 4.4     (D) 5.4 

79. The India's highest annual rainfall is 

reported at- 

(A) Namchi, Sikkim  

(B) Churu, Rajasthan 

(C) Mawsynram, Meghalaya   

(D) Chamba, Himachal Pradesh 

80. The Radcliffe line is a boundary 

between. 

(A) India and Pakistan  

(B) India and China 

(C) India and Myanmar 

(D)India and Afghanistan 

81. The state having the largest area of 

forest cover in India is - 

(A) Arunachal Pradesh (B) Haryana 

(C) Madhya Pradesh (D) Assam 

82. The year……. Is called a Great Divide 

in the demographic history of India- 

(A) 1901  (B) 1921 

(C) 1941  (D) 1951 

83. The only state in lndia that produces 

saffron is - 

(A) Assam       (B) Himachal Pradesh 

(C) Jammu and Kashmir 

(D) Meghalaya 

75- iSBu ¼tk;dokM+h½ gkbMªksbySfDVªd izkstSDV tkiku 

ds lg;ksx ls fdl unh ij cuk gS\ 

(A) xaxk  (B) dkosjh 
(C) xksnkojh  (D) ueZnk 

76- Hkkjr ds nf{k.kh Nksj uhyfxfj igkfM+;ks ds Nksj 

ij dkSu lk njkZ gS 

(A) iky ?kkV  (B) Hkksj ?kkV 
(C) Fkky ?kkV  (D) cksyu ?kkV 

77- ^;kjyax tkaXiks* unh dks Hkkjr esa fdl uke ls 

tkuk tkrk gS&  

(A) xaxk  (B) b.Ml 
(C) ozáiq=  (D) egkunh 

78- i`Foh ds {ks=Qy dk fdruk izfr'kr Hkkjr esa gS& 

(A) 2-4      (B) 3-4       
(C) 4-4     (D) 5-4 

79- Hkkjr esa lokZf/kd okf"kZd o"kkZ dgkW fjiksVZ dh 

tkrh gS\ 

(A) ukeph ¼flfDde½  
(B) pq: ¼jktLFkku½ 
(C) ekflujke es?kky;  
(D) pEck ¼fgekpy izns'k½ 

80- jsMfDyQ js[kk fdu ns'kksa ds chp esa gS\ 

(A) Hkkjr & ikfdLrku  
(B) Hkkjr & phu 
(C) Hkkjr & E;kaekj 
(D) Hkkjr & vQxkfuLrku 

81- dkSu&lk jkT; lokZf/kd ou {ks= lajf{kr djrk 

gS\ 

(A) v:.kkpy izns'k (B) gfj;k.kk 
(C) e/;izns'k  (D) vle 

82- dkSu lk o"kZ tukafudh dk egku foHkkftr o"kZ 

dgk tkrk gS\  

(A) 1901  (B) 1921 
(C) 1941  (D) 1951 

83- dslj dk ,dek= mRiknd jkT; gS& 

(A) vle   
(B) fgekpy izns'k 
(C) tEew d'ehj (D) es?kky; 
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84. The number of major languages, 

recognized in the Indian Union as 

official language, are- 

(A) 15  (B) 22 

(C) 12  (D) 9 

85. Which of the following groups of 

rivers originate from the Himachal 

monuntains ? 

(A) Beas, Ravi, and Chenab   

(B) Ravi, Chenab, and Jhelum 

(C) Sutlej, Beas, and Ravi   

(D) Sutlej, Ravi, and Jhelum 

86. Amalgam' is t term used for an alloy of 

a metal with: 

(A) Copper  (B) Mercury 

(C) Lead  (D) Aluminium 

87. Gammaxene, D.D.T. and Bleaching 

powder are important compounds of: 

(A) Chlorine  (B) Nitrogen 

(C) Sulphur  (D) Phosphorus 

88. L.P.G. is a hydrocarbon consisting of a 

mixture of : 

(A) Methane and Butane 

(B) Propane and Butane 

(C) Ethane and Propane  

(D) Ethane and Butane 

89. Which among the following was first 

human-made plastic ? 

(A) Bakelite  (B) Polyethene 

(C) Celluloid (D) Nylon 

90. Haber Process is used to produce 

which among the following ? 

(A) Potash  (B) Ammonia 

(C) Urea  (D) Nitrates 

91. Consider the following: 

1. Copper  2. Zinc  3. Tin 

Gun Metal is the alloy of which among 

the above? 

(A) 1 & 2  (B) 1 & 3 

(C) 2 & 3  (D) 1, 2 & 3 

92. Which among the following is "Fool's 

Gold" ? 

(A) Copper Sulphate(B) Iron Sulfide 

(C) Brass  (D) Silver Bromide 

84- Hkkjrh; la?k dh fdruh vkf/kdkfjd Hkk"kk,a gS\ 

(A) 15   (B) 22 
(C) 12   (D) 9 

85- fuEu esa ls dkSu Lkk lewg fgeky; ls fudyus 

okyh ufn;ksa dk gSA\ 

(A) O;kl] jkoh] fpuko  
(B) jkoh] fpukc] >sye 
(C) lryt] O;kl]jkoh  
(D) lryt]jkoh] >sye 

86- veyxe fdl /kkrq ls lacaf/kr gS\ 

(A) dkWij  (B) edZjh 
(C) lhlk  (D) ,Y;qehfu;e 

87- xSesDlhu Mh-Mh-Vh] vkSj Cyhfpax ikmMj fdlds 

;kSfxd gS\ 

(A) Dyksjhu  (B) ukbZVªkstu  
(C) lYQj  (D) QkaLQksjl 

88- L.P.G. esa dkSu ls vo;o gS\ 

(A) ehFksu] C;wVsu (B) izksisu] C;wVsu 
(C) ,Fksu] izksisu (D) ,Fksu] C;wVsu 

89- Ekkuo }kjk fufeZr igyh IykfLVd dkSu lh gS\ 

(A) cSdsykbV  (B) ikWyhFkhu 
(C) lSyqykbM  (D) uk;ykWu 

90- gScj izfØ;k }kjk D;k curk gS\ 

(A) iksVk'k  (B) veksfu;k 
(C) ;wfj;k  (D) ukbVªsV 

91- fuEu lanHkZ lef>;s& 

1- dkWij  2- ftad   

3- fVu 

xuesVy fdldh feJ/kkrq gS\  

(A) 1 vkSj 2  (B) 1 vkSj 3 

(C) 2 vkSj 3   

(D) 1, 2 vkSj 3 
92- fdls ^ew[kZ lksuk* dgk tkrk gS\ 

(A) dkWij lYQsV  
(B) vk;ju  lYQkbM 
(C) dkaL;   
(D) flYoj czksekbM 
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93. Whaen was the first Common Wealth 

Games held ? 

(A) 1930  (B) 1934 

(C) 1938  (D) 1948 

94. In which game the term 'Putting ' is 

used ? 

(A) Chess   

(B) Hockey 

(C) Golf   

(D) Billiards 

95. Who was the first Test Centurion in 

India Cricket ? 

(A) C.K. Naidu  

(B) Lala Amarnath 

(C) Vinu      

(D) Mansur Ali Pataudi 

96. The number of players in each side in 

Water Polo is. 

(A) 6         (B) 7             

(C) 8         (D) 9 

97. Which Article is related with " 

Abolition of Untouchability"? 

(A) Article 20 (B) Article 19 

(C) Article 18 (D) Article 17 

98. How many articles are in Constitution 

of India now? 

(A) 440  (B) 441 

(C) 448  (D) 443 

99. The Lok Sabha is also known as. 

(A) Council of states      

 (B) The Upper House 

(C) The House of the People 

(D) Parliament 

100. The chairman of the Rajya Sabha is 

the. 

(A) President of India 

(B) Vice President of India 

(C) Prime Minister of India 

(D) None of the above 

 
 
 
 

93- igys dkWeuosYFk xsEl dc vk;ksftr fd;s x;s \ 

(A) 1930  (B) 1934 

(C) 1938  (D) 1948 

94- ^iqfVax* 'kCn fdl [ksy ls lacaf/kr gS 

(A) 'krajt    
(B) gkWdh 
(C) xksYQ   
(D) fofy;MZl 

95- igyk Hkkjrh; fØdsVj ftlus igyk VSLV 'krd 

yxk;k \ 

(A) lh-ds- uk;Mw  
(B) ykyk vejukFk 
(C) ohuw   
(D) ealwj  vyh iVksSnh 

96- okVj iksyks esa fdrus f[kykM+h gksrs gS\ 

(A) 6         (B) 7             

(C) 8        (D) 9 
97- vLi`';rk fujks/k ls lacaf/kr vuqPNsn gS\ 

(A) vuqPNsn 20  
(B) vuqPNsn 19 
(C) vuqPNsn 18  
(D) vuqPNsn 17 

98- orZeku esa lafo/kku esa fdrus vuqPNsn gS\ 

(A) 440  (B) 441 

(C) 448  (D) 443 

99- yksdlHkk dks D;k dgk tkrk gS\ 

(A) jkT; ifjin  
(B) mPplnu 
(C) fuEu lnu   
(D) laln 

100- jkT;lHkk dk v/;{k gS & 

(A) jk"Vªifr   
(B) mijk"Vªifr 
(C) iz/kkuea=h   
(D) buesa ls dksbZ ugha 
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PART – 'B' 

PASSAGE 

Vacations were once the prerogative of the 

privileged few, even as  late as the nineteenth 

century. Now they are considered the right of 

all, except for such unfortunate masses as in 

China, for whom life, except for sleep and 

brief periods of rest, is uninterrupted toil. 

 They are more necessary now than 

before because the average life is well 

rounded and has become increasingly 

departmentalized. The idea of vacations, as 

we conceive it must be incomprehensible to  

primitive people. Rest of some kind has of 

course always been a part of the rhythm of 

human life, but earlier ages did not find it 

necessary to organize it in the way that 

modern man has done. Holidays, feast days, 

were sufficient.  

 With modern man's increasing 

tensions, with the useless quality of so much 

of his work, this break in the year's routine 

became steadily more necessary. Vacatioons 

became necessary for the purpose of renewal 

and repair. 

101. The author's main purpose in this 

passage is to - 

(A)  Explore the history of vacations  

(B)  Tell why vacations have be-come more 

common 

(C)  Contrast holidays and festive 

occasions with vacation   

(D)  Vacatopms are useless 

102. Accoring to the passage, we nedd  

vacations now more than ever because 

we have - 

(A) A more carefree nature 

(B) Much more free time  

(C) Little diversity in our work   

(D) A higher standard of living  

103. It is implied in the passage that our 

lives are very- 

(A) Habitual  (B) Patriotic 

(C) Varied  (D) Independent 

104. As used in the passage the word 

'Prerogative' (line 1) most nearly 

means - 

(A) Habit  (B) Privilege 

(C) Request  (D) Hope 

105. The contemporary attitude towards 

vacations is best expressed by which 

of the following proverbs ? 

(A) A penny saved is a penny earned  

(B) The devil finds work for idle hands 

(C) All  work and no play  makes Jack 

a dull boy 

(D) Many hands make light work 

In an effort to produce the largest, 

fastest and most luxurious ship afloat, the 

British built the S.S. Titanic. It was so 

superior to anything else on the seas that it 

was dubbed 'unsinkable'. So sure of this were 

the owners that they provided only twenty 

life boats and rafts, less than one-half the 

number needed for the 2,227 passengers on 

board. 

Many passengers were aboard the 

night it rammed an iceberg only two days at 

sea and more than half-way between England 

and its New York destination. Because the 

luxury linear was travelling so fast, it was 

impossible to avoid the ghostly looking 

iceberg. An unextinguished fire also 

contributed to the ship's submersion. Panic 

increased the number of casualties as people 

jumped into the icy water or fought to be 

among the few to board the life boats. Four 

hours after the mishap, another ship, the 

'Carpathia', rescued 705 survivors. 

The infamous S.S. Titanic had  

enjoyed only two days of sailing glory on its 

maiden voyage in 1912 before plunging into 

12,000 feet of water near the coast of 

Newfoundland where it lies today. 
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106. All of the following are true except 

that - 

(A)  Only a third of those aboard perished  

(B)  The Carpathia rescued the survivors 

(C) The S.S. Titanic sank near New 

foundland  

(D) The S.S. Titanic was the fastest ship 

afloat in 1912 

107. All of the following contributed to the 

large death toll except - 

(A) Panic  (B) Fire 

(C) Speed  (D) The Carpathia 

108. How many days was the S.S. Titanic at 

sea before sinking ? 

(A) Two  (B) Four 

(C) Six  (D) Twelve 

109. "Maiden voyage" is closest in meaning 

to - 

(A) Inaugural (B) Most elegant 

(C) Longest  (D) Final 

110. What does this passage convey ? 

(A) The S.S. Titanic proved itself the 

most seaworthy vessel in 1912  

(B) Attempts to rescue the S.S. 

Titanic's survivors were not 

successful 

(C) Overcondifence by builders and 

owners was greatly responsible for 

the sinking of the vessel. 

(D) A fire and panic were the only 

causes for the sinking of the ship 

Directions : In the following 

questions, out of the four alternative, choose 

the one which can be substituted for the 

given sentence.  

111. A person with a long experience of any 

occupation - 

(A) Veteran   (B) Genious 

(C) Seasoned (D) Ambidexterous 

112. Words written on a tomb - 

(A) Epithet  (B) Epigraph 

(C) Soliloquy (D) Epitaph 

113. Stealthily done - 

(A) Devious  (B) Nefarious 

(C) Surreptitous (D) Villainous 

114. Something no longer in use - 

(A) Desolate  (B) Absolute 

(C) Obsolete  (D) Primitive 

115. One not concerned with right or wrong 

- 

(A) Moral  (B) Amoral 

(C) Immoral  (D) Immortal 

116. A person who opposes war or use of 

military force - 

(A) Fascist  (B) Pacifist 

(C) Narcissist (D) Fatalist 

117. Severely abusive writing in journals - 

(A) Imaginary (B) Speculative 

(C) Scurrilous (D) Sarcastic 

118. Call upon God or any other power 

(like law) etc. for help or protection - 

(A) Invocation (B) Involution 

(C) Inundation (D) Revocation 

119. Fear of being enclosed in a small 

closed space - 

(A) Agoraphobia (B) Claustrophobia 

(C) Xenophobia (D) Paranoia 

120. One who has become dependent on 

something or drugs is - 

(A) Adamant (B) Edict 

(C) Addict  (D) Derelict 
 

SYNONYM 
 

121. ILLICIT 

(A) unlawful (B) disgraceful 

(C) improper (D) infamous 

122. OBSTINATE 

(A) antagonistic (B) abstruse 

(C) intrinsic  (D) stubborn 

123. DANGEROUS 

(A) safe  (B) strong 

(C) hazardous (D) secure 

124. SUFFICIENT 

(A) Full  (B) Complete 

(C) Enough  (D) Less 

125. BENEVOLENT 

(A) Beneficial (B) Kind 

(C) Helpful  (D) Supportive 
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Directions : In the following 

questions, choose the word opposite in 

meaning to the given word opposite in 

meaning to the given word. 

126. OSTRACISE 

(A) Amuse  (B) Welcome 

(C) Entertain (D) Host 

127. DENSE 

(A) Scarce  (B) Slim 

(C) Sparse  (D) Lean 

128. PARSIMONIOUS 

(A) Prodigious (B) Selfless 

(C) Extravagant (D) Ostentations 

129. FETTER 

(A) Restore  (B) Liberate 

(C) Exonerate (D) Distract 

130. HARMONY 

(A) Strife  (B) Annoyance 

(C) Cruelty  (D) Mischief 

Directions : In these questions, a part 

of the sentence is given in bold. Below are 

given alternatives to the bold part at (A), (B) 

and (C) which may improve the sentence. 

Choose the correct laternative. In case no 

improvement is needed you answer is (D).   

131. On one occasion he persuaded me to 

accompany him on a shooting 

expedition he was planning. 

(A) has planned (B) had planned 

(C) planned         (D) No improvement 

132. We have no less than a thousand 

students in our college. 

(A) We have not less than a thousand 

students  in out College.   

(B) We have no less than thousand 

students in our College 

(C) We have no  fewer than a thousand 

students in our College   

(D) No improvement. 

133. When she regained consciousness she 

was stretched in the ditch out. 

Soaked to the skin. 

(A) out in the ditch stretched   

(B) on the ditch outstretched 

(C) outstretched in the ditch 

(D) No improvement 

134. Too little is known by this time about 

possible sideeffects of the drug. 

(A) presently  

(B) in the end 

(C) before hand 

(D) No improvement 

135. If you want to save money you must 

get rid of shopping. 

(A) cut  down on  

(B) get on with 

(C) put on with  

(D) No improvement 
 

COMMON ERROR 
 

136. The tree (A)/ is losing (B)/ its leaves. 

(C)/ No error. (D)  

137. The beautiful, young girl (A)/ jumped 

in the river (B)/ in a state of 

depression. (C)/ No error. (D) 

138. This is not (A)/ a worth reading book 

(B)/ so don't read it. (C)/ No error. (D) 

139. Prisoners, especially long term convict 

(A)/ have to suffer most (B)/ from 

emotional starvation. (C)/ No error. 

(D) 

140. It is now (A)/ five years since (B)/ I 

visit Delhi. (C)/ No error. (D) 

141. I felt privileged (A)/ to recite a poem 

in an honour of my teacher (B)/ at a 

recent school function. (C)/ No error. 

(D) 

142. I am not sure (A)/ if (B)/ he will corne. 

(C)/ No error. (D) 

143. When no individual is (A)/ responsible 

there are no (B)/ sense of 

responsibility. (C)/ No error. (D) 

144. We had (A)/ hardly reached the (B)/ 

platform than the train came in. (C)/ 

No error. (D) 

145. Africa is the second largest continent 

(A)/ and it contain about one fifth (B) 



 

 

16 

of all the land in the world.  (C)/ No 

error. (D) 
 

IDIOMS & PHRASES 
146. They are all at sixes and sevens 

(A) in groups of sixes and sevens  

(B) 1n disagreement 

(C) playing a game 

(D) None of the above 

147. He failed miserable in the competitive 

examination as he had worked for it by 

tits and starts. 

(A) finally  (B) hastily 

(C) irregularly (D) impulsively 

148. While the employees plan for a strike, 

the government tries to fly a kite. 

(A) detect the facts  

(B) please the children 

(C) test public opinion  

(D) enter into an agreement 

149. Fast  bowling is the Achilles' heel of 

Indian Cricket . 

(A) major factor  

(B) satisfactory element 

(C) weak point   

(D) cause of failure 

150. The Education Minister and five other 

MLAs sustained minor injuries in the 

free for all in the assembly. 

(A) everyone got something free  

(B) uncontrollable situation 

(C) free entrance for all 

(D) fight for freedom 
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ANSWERS 

1 A 21 B 41 A 61 B 81 C 101 B 121 A 141 B 

2 C 22 D 42 B 62 A 82 B 102 C 122 D 142 B 

3 B 23 A 43 C 63 D 83 C 103 A 123 C 143 B 

4 B 24 C 44 C 64 C 84 B 104 B 124 C 144 C 

5 A 25 D 45 D 65 C 85 A 105 C 125 C 145 B 

6 C 26 B 46 C 66 B 86 B 106 A 126 B 146 B 

7 D 27 B 47 D 67 C 87 A 107 D 127 C 147 C 

8 D 28 C 48 B 68 C 88 B 108 A 128 C 148 C 

9 D 29 D 49 C 69 C 89 C 109 A 129 B 149 C 

10 A 30 B 50 A 70 A 90 B 110 C 130 A 150 B 

11 A 31 B 51 A 71 C 91 D 111 A 131 B   

12 A 32 A 52 A 72 C 92 B 112 D 132 C   

13 D 33 B 53 C 73 A 93 A 113 C 133 C   

14 C 34 D 54 B 74 C 94 C 114 C 134 A   

15 A 35 C 55 D 75 C 95 B 115 B 135 A   

16 C 36 A 56 A 76 A 96 B 116 B 136 D   

17 A 37 C 57 A 77 C 97 D 117 C 137 B   

18 B 38 D 58 A 78 A 98 C 118 A 138 B   

19 A 39 D 59 A 79 C 99 C 119 B 139 A   

20 B 40 D 60 A 80 A 100 B 120 C 140 B   
 

 

 

 

 

 

 

 


